LERFFRBEAETRRBELREXRER

BHE 9098REVT L (BH R EME L 53i7.28~8.1

M @B MREM 0K & R 24| Ba T R A

J& i IEG |’ ik BRI | A FCfx  JEfL
] 100m 4 TEH BWR IR 3 |729 | -08 10" 89 4
] 200m 3 TEH ®WR IR 3 |731 | +1.8 21775 3
] 200m 4 |k 2| IEEE 2 | 731 | 24 21" 68 4
B 200m 6 =l BRERE 3 | 731 [ 19 21" 76 5
E:] 400m 1 i =R- BEX 3 |728 48 7 11 2 48 "7 63 6
5 400m 2 Bz HREK= 3 |728 48 7 59 5
] 400m 4 AR K& B¥F 3 |7.28 48 " 98 5
5 800m 1 N OBX IOz 2 |730 1753748 2 1’ 53" 84 3 1’ 53”28 8
] 800m 2 E82 ®@E oW 3 |730 1’53718 3
5 800m 5 B F SEFD 3 |730 1° 56”85 7
2] 1500m 1 FHII BX HEREK= 3 |7.28/29 3’53730 1 3°49778 11
B 5000m 1 ML It \EX 2 | 730 14’ 31" 76 9
5 5000m 2 ARE HA BEXR 2 [730 147 47721 12
5 5000m 5 FHII BX HEREK= 3 [730 14’ 55”67 16
] 110mH 1 MO £A  #W 3 [ 81 |+02 14727 1| +27 13- 92 1| 14 13- 95 3
E: 110mH 3 Frh BD  BEXR 2 [ 81 | =10 14”83 4
B 110mH 4 NI ¥E FriRAE 3 |81 [-15 14”69 4
] 110mH 6 T MBIl fEmfEx 2 | 81 | 24 14788 4
5 400mH 2 MR AX— Az 2 | 729 53 " 66 4
5 400mH 4 AH Eth  AMRBE 3 |7.29 55 " 47 4
5 400mH 6 #HF BEL] KFA 3 |729 DNS
B 3000mSC 1 (U] BEXR 3 |731/81 9’ 08" 46 1 DNF
B 3000mSC 5 Wiz BE BEX 3 | 731 9’ 18" 93 7
B 3000mSC 6 1% BE E% 3 | 7.31 937”05 9
B 4x100mR 3 S 7.28 41" 34 3| S BE(3)- B 1£31(2)- 1Rk Z3R(2)-THE RHQ)
B 4x100mR 4 BWER 7.28 42 " 08 5| #E BAG)- Rk £Z3)-120 Q) HE =1-03)
B 4x100mR 5 AEHR 7.28 42 34 6| /Nt BRE(3)- HAE FER()- B O MAQ)- KRR EHIEG)
B 4x100mR HERE ST 729 41 39 7| S BE(3)- B 1£31(2)- 1Rk F3R(2)-THE RHO)
B 4x400mR sz 7.31 3715 22 3| IR A—(2)- 157 BHQ)- R 18EQ)-BR F(3)
B 4x400mR ST 7.31 3720 12 5| B BE(3)- 18k F3K(2)- F1E %) =% HKR(2)
B 4x400mR HERE JIIB AL 8.1 3’ 14" 60 5| IR A—()-tk& B#G)- R 1&EQ)-BRIE B3)
5 E= Bk 1 HMEH ZPKXK RH 3 | 81 1m95 15
5 E= Bk 2 EE —8  EmA 3 | 81 1m95 16
5 E= Bk 3 tH 5 Hm 2 | 81 2 m 01 5 2m 03 8
5 E= Bk 5 AE Yo AV 3 | 81 1m 95 9
5 HEE 5 HiE BN BAE 3 |7.28 NM
5 ek 6 ML BA B 2 | 728 NM
E TENE Bk 5 =E WE  RFA 3 | 729 DNS
5 =478 2 WH HE KEi 3 [731 | +20 14m30 18
-] =428 5 Bt R 8F 3 [731 | +21 13m52 26
E:] R 1 fmg BE  P4ER 3 [730 15m 78 1 15 m 74 7
5 Fatix 2 #H BEE  BARE 2 |730 15 m 29 7 14m92 12
5 At 6 B8N #HA oWz 2 |730 12m 89 30
5 EE S 5 #HF BB ARE 2 | 81 45 m 46 2 46 m 28 5
E: no-1% 1 fmg $E  P4ER 3 |728 57 m 96 2 58 m 01 9
5 nov—i% 4 ‘e & ] 3 |728 DNS
5 nov—% 6 RS K KE 3 |7.28 42m69 31
5 Py 2 &% x&k  JlAwhi 3 | 729 59 m 14 4 58 m 86 9
5 PYF 5 WH #E EBRER 3 | 729 53m 23 21
5 Y 6 MR &KX BERE 3 | 729 46 m 04 32
5 J\HEER 1 mE WA RFA 2 [728/29 DNS

FEAF/R



ERFFRBEAETRRBLBREXRER

BHER998REATT LRHEERE LR 7.28~8.1

" = - FiR IR R

£ HE BREE R & AR FEMR g um melm  em me|m B Ew
ES 100m 1 KB BE BEX 3 | 729 | 01 12 7 63 7
kg 100m 2 hAR % BEXR 3 | 729 DNS
= 100m 4 TH FE XER 3 [ 729 | 13 12712 2| 03 12705 7
= 100m 5 [ RER 3 | 729 | 404 12747 5
ES 100m 6 B HhAhA KEE 2 | 729 | +10 127 30 5
= 200m 1 B <BE BEX 3 | 731 DNS
ES 200m 2 &k XA 268 2 | 731 | 401 25”23 4
= 200m 3 PR E BER 3 | 731 DNS
ES 200m 4 g ##F XER 3 | 731 | +1.9 25”7 31 6
kS 200m 6 =i AR 2T 3 | 731 | +26 25”7 27 7
ES 400m 1 AR BT BER 3 | 728 55" 23 1 54 " 71 1 54" 42 1
£ 400m 2 Im Z& RER 2 | 7.28 55" 70 1 56 7 17 4
ES 400m 6 WE i AEX 2 | 7.28 58" 75 6
FS 800m 1 A EE EE 3 |7.30/31 2’ 127 94 2 2709”96 2 2°10" 25 5
ES 800m 4 KE HEL 3L 3 7.30 2’10778 5 211" 41 6
kS 800m 6 #}AR BEE 2T 2 | 730 27 17" 44 5
© 1500m 1 AT SF 3 | 7.28 4’ 217 84 5 4723794 12
@ 1500m 4 WK B gF 3 | 7.28 4’ 31761 8
ES 1500m 5 B OEK gF 3 | 728 4731726 10
kS 1500m 6 A I RE— 3 | 7.28 4 28787 6
© 3000m 3 AT SF 3 | 731 9 52771 19
£ 3000m 4 Fik N ) KE— 3 | 731 9’43728 13
ES 3000m 5 i BTE SF 2 | 731 9’ 37754 9
i 3000m 6 B Ok RE— 3 | 7.31 10° 02”701 18
ES 100mH 2 HO B BWER 3 8.1 =11 13" 94 1] +20 13" 60 1| +1.8 13" 52 1
kS 100mH 5 #R7ART  [L7E EE3 2 | 81 [ -11 14”7 93 6
ES 400mH 1 AL BN BEX 3 |7.29/30 1700”35 1 58 " 97 1 57 ” 99 1
kS 400mH 4 ik BE HREE 3 | 729 1’04769 6
ES 5000mW 2 Frth WAE AER 3 |7.28/29 23’ 59 " 06 5 DQ
ES 5000mW 3 NG BE KER 2 |7.28/29 24 33783 6 25° 19" 21 15
% 4x100mR 1 BEE 7.28 DNS
& 4x100mR 2 AEHR 7.28 46 " 53 2| LB RER)- 1L BEFOQ)- B HMAQR-BE HYEQ)
& 4x100mR 4 FRFERE 7.28 47 7 21 2(7oz0 453)- 2R BAKQ)- FE (3)- AR 3UEE()
& 4x100mR  HERE XEE 7.29 46 " 13 1| £ 8 REEQ)- 1L $F0)- % MA@ ILRZ &)
& 4x100mR  EERE FREFERE 7.29 46 " 94 4| 7ozn 9503)- 2R BAHEO)- HE EQ)-FEH 3801
& 4x100mR  REE ARER 7.30 46 7 44 4| £H EREQ)- L #EF0)-E M AR ILRELQ)
& 4x400mR 1 XEH 7.31 3’ 497 67 1| BB HYS)- 0 /IMEQ)- BHF #0)-ILR &)
. 4Xx400mR 2 BWER 7.31 DNS
L 4Xx400mR 3 FRFERE 7.31 3752”06 3| R+ Z(3)- M EK(2)- 4 BFI(2)- R % £EQ)
. 4Xx400mR 4 TEBEER 7.31 DNF | /B D DAN)- #fils BE(3)- 181R Q) -RA E((Q)
#&  4x400mR R KEH 8.1 3 49 93 6| B8 HYIQ)- 1 MEQ)- B FH H0) IR Z&2)
X 4x400mR HERB FRFEARE 8.1 3 52" 82 T| R+ B(3)- B £E)NE EBQ) FH FEF()
ES E =Bk 1 [EEF 5 BEFR 3 | 7.31 1m 67 1 1 m76 1
k9 E= B 2 fEH e B 3 | 731 1m 64 5
ES Bk 4 fER R iz 3 | 731 NM
E:S Bk 4 B0 ¥& T 3 | 731 3mw50 12
ES ENEBE 1 Fi5 ¥E Az 3 |73 | +1.0 5 w59 12
k9 ENREE 2 BA HBE EFRF ke 2 | 730 | +038 5 82 4 +0.8 5 r 96 5
ES ENE Bk 3 NHE =B FRFEBE 2 | 730 | 06 5m30 26
ks ENRBE 5 A T Eo-d 3 | 730 | -07 5m43 21
= =Bk 1 EE B =4 3 8.1 +1.7 12 m59 4
& =Bk 2 Hf X2 iz 2 8.1 +23  12m22 8
ES AL 4 KE BN BARE 3 | 729 11mr68 13
ks 1% 2 FEH EK EIEEE 3 | 7.30 3363 27
ES 3 1% 5 KE BN BARE 3 | 7.30 3686 11
k9 no—1% 1 %R RE  #EXRE 3 | 728 46 w63 10
kS N 2 FH EK SR 3 | 728 44 w38 19
ks NoI—1% 4 AH Fx AER 3 | 7.28 42 w73 26
= DY 3 Rk HE ER—%& 3 | 731 4017 16
ES PYx 6 IR REE R 3 | 7.31 3813 20
X LEiEH 1 fIE8 R Wiz 2 |7.30/31 45138 15
X EEHRK 3 i [E PR F BT 2 [7.30/31 44785 18

SRS A 24 BEE 32




